

$$f(x) = f(\tan^{-1}x + \sqrt{1+x^2}) \xrightarrow{\substack{cf'(a) = a' f(a) \\ \tan'(a) = \sec^2 a}} g'(a) = \frac{1}{\sqrt{1+x^2}} \times \frac{1}{\frac{1}{\sqrt{1+x^2}}} + f'(a) (\frac{x}{\sqrt{1+x^2}}) = \sqrt{1+x^2}$$

$$\rightarrow f'(x) = \sqrt{1+x^2} \rightarrow f'(x) = \frac{\sqrt{1+x^2}}{1}$$

$$f(x) = \frac{1 + \cos^2 x}{1 - \cos^2 x} = \frac{(1 + \cos^2 x)(1 + \cos^2 x)}{(1 + \cos^2 x)(1 - \cos^2 x)} = \frac{(1 + \cos^2 x)^2}{1 - \cos^2 x}$$

$$g(x) = \frac{1}{1 - \cos^2 x} \rightarrow g'(x) = \frac{-2 \cos x (-\sin x)}{(1 - \cos^2 x)^2} = \frac{2 \cos x \sin x}{(1 - \cos^2 x)^2}$$

$$f'(x) = \frac{2 \cos x \sin x}{(1 - \cos^2 x)^2} = \frac{2 \cos x \sin x}{(\sin^2 x)^2} = \frac{2 \cos x \sin x}{\sin^4 x} = \frac{2 \cos x}{\sin^3 x}$$

$$f(x) = (x^2 - 1) \sqrt{x} \rightarrow f'(x) = \frac{2x}{2\sqrt{x}} = \frac{x}{\sqrt{x}} = \sqrt{x}$$

$$f(x) = (x^2 + 1) \sqrt{x} \rightarrow f'(x) = \frac{2x}{2\sqrt{x}} = \frac{x}{\sqrt{x}} = \sqrt{x}$$

(2)

$$f(x) + f'(x) = -1$$

$$y = ax + b \rightarrow \begin{cases} -ax + b = f(x) \\ -ax = f'(x) \end{cases} \rightarrow -ax + b = -1 \rightarrow x = \frac{b+1}{a} \rightarrow f'(x) = -\frac{1}{a}$$

$$y = ax + b \rightarrow \frac{a-1}{a+1} = \frac{a+b}{a} \rightarrow V_{an} - V = \frac{a+b}{a} \rightarrow V_{an} + (1 - \frac{1}{a}) = \frac{a+b}{a}$$

$$f(x) = x^2 + ax + b \rightarrow \begin{cases} f(x) = 0 \\ f'(x) = 0 \end{cases} \rightarrow x^2 + ax + b = 0 \rightarrow x = \frac{-a \pm \sqrt{a^2 - 4b}}{2}$$

$$f'(x) = 2x + a = 0 \rightarrow x = -\frac{a}{2}$$

$$x = -\frac{a}{2} \rightarrow \frac{-a}{2} = \frac{-a \pm \sqrt{a^2 - 4b}}{2} \rightarrow -a = -a \pm \sqrt{a^2 - 4b} \rightarrow \sqrt{a^2 - 4b} = 0 \rightarrow a^2 - 4b = 0 \rightarrow b = \frac{a^2}{4}$$

(8)

$f'(a) = \lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a}$
 $\Rightarrow \frac{\sqrt{x+1} - \sqrt{a+1}}{\sqrt{x} - \sqrt{a}} \xrightarrow{x=a} \frac{0}{0}$

-1

$f'(a) = \frac{\left(\frac{1}{\sqrt{x}}\right)(\sqrt{x+1}) - \left(\frac{1}{\sqrt{a}}\right)(\sqrt{a+1})}{(\sqrt{x}-\sqrt{a})^2}$
 $= \frac{\frac{1}{\sqrt{x}} - \frac{1}{\sqrt{a}}}{x - a} = \frac{\frac{1}{\sqrt{x}} - \frac{1}{\sqrt{a}}}{x - a} \xrightarrow{x=a} -\frac{1}{4a}$

$\lim_{x \rightarrow a} \frac{f(x) - f(a)}{x - a} = \lim_{x \rightarrow a} \frac{1 - \ln(x+1)}{1} = \lim_{x \rightarrow a} \frac{1 - \ln(a+1)}{1} = 1 - \ln(a+1)$

-9

$f(x) = (x^2+1)^{\frac{1}{r}}$
 $f'(x) = \frac{1}{r}(x^2+1)^{\frac{1}{r}-1} \cdot 2x = \frac{2x}{r}(x^2+1)^{\frac{1}{r}-1}$

$f'(a) = \frac{2a}{r}(a^2+1)^{\frac{1}{r}-1}$

$f(x) = \frac{1}{x} \Rightarrow f'(x) = -\frac{1}{x^2}$
 $f'(a) = -\frac{1}{a^2}$

$f(x) = x^r - a^r = (x^r - a^r)(x^r + a^r) = x^{2r} - a^{2r}$
 $f'(x) = 2rx^{2r-1} = 2rx^{r-1} \cdot x^r$

$\frac{1}{x^r - a^r} = \frac{1}{x^r - a^r}$

$\frac{1}{x^r - a^r} = \frac{1}{x^r - a^r}$

المطلوب (جيب)